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Heat Rate

O&M

(EP)

Amasnulnia (EP)

= [( P, x Heat Rate/10° ) + O&M/2] x (14T) (U'm/?ﬂa"imﬁ-'ii"ﬂm)

(1-L)
- gnmamdsemilvidinlufiou t
. sienfesssumAd Uam, sminsuidranlnihmodnlude t
= 329.5604 (uw/anutig)
= mm'\uﬁutﬂﬁaﬂun’ns’lﬁn.%auwﬁam?m itendmmdsrulwihiieiniu
8,600 (Diy/Maind- i)
= ﬁ'\'l-ﬁ’a'*lu'lurm@um%aaua=mmqﬁﬂmm'wmnu
0.05 (wm/Alatas-Fale)
= amemsqmuﬁu‘lumua’mazamﬁ'l.ﬂﬁqueﬁmmﬁu 4%
- Famansiulaiidwintu 15%

= [(329.5604x8,600/1,000,000)+ 0.05/2]x(1+0.15) (mw/ﬁ‘ia"imﬁ'ﬁ'ﬂua)

(1-0.04)

= 34251 (wm/Alaind-dala)
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